Science Aptitudoe Tost - 2021
For Class : VIII
Full Marks : 50 — Time allowed ;1,30 hourn
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Answer all the questions ;

There are 30 MCQs (1 - 30) in Group A, cach of I mark. Lach MCQ has
heen provided with four options. Shade the correct option with BALL
POINT PEN in the appropriate box in the Answer-script. Multiple shading
is liable to cancel the relevant answer, 0.25 mark will be deducted for
wrong answer to ecach MCQ. Group I contains 10 questions (31 - 40)
each of 2 marks, answer these questions in the space provided in the
Answer-scripl,

GROUP - A
Multiple Choice Questions :~ I1x30=30
. ot e e A P T et oed ¢
(a) 7C 3R (T (M (b) =15
(c) wifzf (d) il
Which part of the following controls the quantity of light to be received
by cyes ? |
(a) Rod and cone cell (b) Lens
(¢) Irish . “(d) Cornea,
2. e TP Hefier o vetca wiolRs g el i i
T ¥ , .
(a) 90° (b) 0° (c) 45° (d) 30°
When light ray appears perpendicularly on a mirror, the reflected
angle will be - |
() 90° (b) 0° (c) 45° (d) 30°
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3. QiR St 6 o wiat et w9 70 G 20
(a) B CH¥1 (b) Boitsatr  (c) Brrsias  (d) wwicafibm
The scale expresses the intensity of carthquake is —
(@) Richicr scale (b) Sismograph
(c) Sismopram (d) Barometer

4 QI AT R S 3 27 ¢
(a) M (b) ferzs (c) eifSams  (d) ert
Which metal is preserved under kerosene ?
(a) Iron (b) Zinc - (c) Sodium  (d) Copper.
5. R+l it ey ¢ | .
(a) 5o WP fe wey (b) 7B&H Jfew oy
(c) = =f&2m fes oy (d) TR g = |

Braile process is adopted for — .
(@ Locbmetor disable person (b) Blind person
(¢) Hearing impaired person (d) None of the above,

6. R UF R A .
@ 30f () 28Fm () 29 () 31 fmy

Time difference between two full moon js —
(@) 30days  (b) 28days (¢} 29 days

7. TS PG (P AT 1 o1t 2
(a) B b FfRT () @re (d) =rpfz5 |

-~ Which allotroph of carbon is used to redyce the
(a) Diamond (b) Fullerene (c) Coke
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(d) 31 days.

friction ?
(d) Graphite.




8.

9.

10.

LL

Ao @I Ceifes At ¢

(a) TiwiifEr (b) @ittt

(c) oI 2i3rg iy (d) @tesiferas cpafes |
Which of the following is not distited ?

(a) Nepthalene (b) Anthracene

(¢) Ammoinium Hydroxide (d) Ammonium Chloride.

 RROGITSA SUFele S (61 <ploter petve el foiot wAfrder 204 7

(a) =et o e 209

(b) et =51 =71t =0 |

(c) FowITTm Tt i ~AfFRS T =

(d) TR @FE 7 |

What will be the colour change of Litmus when added to hydrogen
gasjar ?

(a) Red Litmus turns into Blue

(b) Blue Litmus turns into red

(c) No change of colour of Litmus

(d) None of the above.

2% IfIge Ffaw oub 27 -

(@ @@ (b) e (c) I (c) 7T

First discovered artificial fibre is .
(b) Wool (C) Mullbury  (d) Nylon.

(a) Reyon

(a) =11 TGRS e I
(b) T fEAGHIATE =1 LA
(c) foiwm farem refa #Ifada Fel
(d) Toitam BRI
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12.

13.

14.

15.

Aquous solution of Rust —
(2) Tumns Red Litmus into Blue
(b) Turns Blue Litmus into Red

f

(é) Litmus not changes its colbur.
(d) None of the above.

@@mﬁmmmuﬂmmﬁwﬁr- ERS
(@) = (b) W (c) TR, (d) Qi
Follomng“whgph metal is pﬁreseﬁt in plants ?

(a) Mercu_ry (b) Calcium (c) Magnesiun (d) Bromine

“The Story of my Llfe ﬁ‘lt‘?ftiﬂ - Y

(a) TEMER  (b)’ cscawﬁm(cmrﬁ: (d) I
“The Story of my Life’ is written by— aa

‘(a) Madam Curie e (b) HellenKiller
© Flermng - (d)None

wna CIACE %ﬁ?{ wwﬁmﬁ ?

(2) Cu(OH), + CuCoO, (b) Cu(OH)iz

() CuCO, (d) Cu(NO;),
Green layer obtamed over copper plate is — 1
(a) Cu(OH), + CuCO, (b) Cu(OH),

(c) CuCo, | @ Cu(NO;),
RGeS i 3t whig T AT m e -
(a) W’f{@m (b) 53

(c) Wwdmﬁm (d) g
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16.

17.

18.

19.

Which of the following Nitrogen fixing Bacteria increases the soil
fertility ?

(a) Blue green Algae (b) Yeast

(c) Lactobaéillus ‘ (d) None.

BIRIRPICeI= ST AT 31 13 -

(a) ST NN Ok ki

(c) eI (d) Boit sRea e
We can prevent the following diseases by vaccination —
(a) Colera - | (b) T.B.

(c) Hepatitis " (d) All of the above.
(a) Difercaraifer (b) WG

() FRGERT - o (d) <EEROER

Research related to the structure of cell andits function is known as—
(a) Paelinology (b) Cariology (c) Cytology (d) Embriology.

(a) FeRIEET  (b) ¢l (c) G (d) Tt
The largest sanctuary of Tripura is — i

(a) Sepahijala (b) Gorhati  (c) Rowa (d) Trishna.
IS ARG FATS A e <A o G =T -

(a) FLPT o (b) o
(c) CHOAG Tt (d) St |
A human cell which can change its shape is —
~(a) Nervecell (b) Muscle cell
(d) White blood cell , (d) Platelets.
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20.

21.

22;

23.

WWCW?
(2) 2, 4 CRFPIRTR 0T 9Biw
(b) TrEfRTN -

- (0) CATBICHIR

(d) IR

. Which of the following is a pesticide ?

(a) 2,4, Dichlorophenoxy acetic acid
(b) Melathion |

() Metolachlor -
(d) Chloroform.
(a) “IFZEATS - (b) TN (c) aIy (d) Tz

Fat is completely digested in the —

(a) Stomach . (b) Mquth
(c) Small intestine (d) Large intestine.
(2) FETFRN LG , (b) GISA Si=bies

(c) Gifars 413 S (d) G priES|

- Which of the follqwing is Baking Soda ?

(a) Calcium Carbonate (b) Sodium Tertarate

(c) Sodium Bicarbonate (d) Sodium Chloride.

FEE @O0 FET FdSRo Ty 2 ‘

(a) TSR (b) A ©F=rm (d) A
Which part of a flower develop into fruit 9

(a) Pistil ~ (b) Petal (©) Ovary  (d) Stamen.
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24,

25.

26.

27,

13 (OATS (A FAT Tz 77 -

(a) PN JRGHIZG (b #Bifetm oz rmmizs
(c) SO ZRLGIHIZT (d) form 2z remizg |
Base used in the manufacture of soap is — ,

(a) Calcium Hydroxide (b) Potassium Hydroxide
(c) Ammonium Hydroxide (d) Zinc Hydroxide,

2| NI @A ITI & AL THIF SIS Gzl 2 7
(a) <RI G S} AR ~ifaase

(b) <6 =T oi=l BestR TR SRS

(c) R TAIG G SN (ST “AfRTSw

. (d) 92Tl o Stet Tesih I S|

When solid ammonium nitrate is added to water, the resultant solution
feels cold to the hand. Which statement best describes this observation?
(@) Thisisanendothermic chemical changes

-(b) Thisisanexothermic chemical changes

(c) Thisis an endothermic physical changes

(d) Thisisan exothermic physical changes.

PCRA &3 73 weiq mmmﬁw: |

(a) st b) T (o)amR  (d) oAl
The Head Office of PCRA is situated in the city —

(@) Delhi * ‘(b) Kolkata () Mumbai  (d) Chennai.
GURITET ity -

(a) TR (b) %f@mm (c) =ificiee (d)@ﬁwn

Centrozome is found in - °
(@) Bacteria  (b) Plantcell (c) Animalcell (d) Virus.
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28.

29.

30.

WHO e st ety sicare) ftetw ety oz i -

(a) 45dB (b) 60dB (c) 65dB (d) 80dB.

As per WHO recommendation the safe limit of loudness of sound in
humanis— | ]

(a) 45dB (b) 60dB (c) 65dB (d) 90dB.
Moo= s R o ot «rnd i oo -

(a) GFHR QR AR eftatem Gz

(b) LI G 1 '@ Ty 21

(©) W%WWW(@)WNWW

() R IR G Bl Hraicy see 9o |

Choose the correct statement with respect to umcellolar organisms—
(@) Unicellular Organisms do not require food
(b) Umcellular Organisms respire and reproduce

(c) In umcellular organisms, Tissue-work in co-ordination to perform
different functions

(d): All unicellular organisms move by 0111a

mm%ﬁﬁﬁmm

(a) f& PSR oo A

(b) cz1F ASfFNTHE (oo A
(c) @R FefFarTs R e

(d) RIS SR A |

Choose the correct statement —

(a) Genes are located in the chromosomes
(b) Cellis located in the nucleus

(c) Cell membrane surrounds the nucleys

(d) Chromosomes are located in the nucleus,
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GROUP - B

FToR SPAYTAIR ALCTHCA TG WG - (T (6t i) 2%x10=20

Briefly answer the following questions :—

31

32.

33.

* 34,

35.

36.

37.

{0 TG © AT 60 N I &ATATAT FTe1 3000 Pa 5171 312 77 | 7254

CFAFCT PO ?
Calculate the area of a body which experinces a pressure of 3000 Pa

by a force of 60 N.

4RO TR 2

What is 4R Rule ?

LEDI® @ ZAW @2

Why LED bulbs are long lasting ?

BRI T RIT GBS SO 874 229 T Tfb 7 (4 ?

Why antibiotic medicines should not be taken without physicians
advice ? ’

el 1St 21w 5 AT 20 R/ <Dt ifre berer i et 5 Fif 30
RefRl/ ot CoreT | SBTS (i 0 g o e

A car moves with a speed of 20 km/hour for first 5 minutes

with a speed of 30 km/hour for next 5 minutes. What is the total distance
covered by the car ?

CrAERRH Ao & ¢

What is Dialysis process ?

Aot R & 2 q3fs Gz w1 |

What is displcement reaction ? Give one example.

and then
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Hagitoda

38.
39.

40.

TRERLA WICTET! FTH, TSN 77 57 3Mole g 2

Discuss brieﬂy, how deforestation causes scarcity of rain ?

COTIR BIAANTR *=varery 2f6 et for

State two sources of sound pollutlon

IGINIS (AT wr SE o115 oty o121
State three measures to protect our life from lightning.

i
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